
Name: Answer KeyBuying With Change

Math www.CommonCoreSheets.com
1-6 83 67 50 33 17 0

Use the price table to solve each problem.

1) The table below shows the prices of
several items at the candy shop.

Item Price
candy cane $1.45

lollipop $2.05
gummy worm $1.10
chocolate bar $3.45

sugar cube $2.95
Paul had $5.00 when he went to the
shop. If he bought 1 candy cane what
is the most expensive item he can
buy with the money he has left?
$5.00 - $1.45 = $3.55

2) The table below shows the prices of
several items at the grocery store.

Item Price
soda $1.85

bag of cups $2.50
bag of plates $2.15
bag of chips $3.45
cheese dip $1.30

Lana had $5.00 when she went to the
grocery store. If she bought 1 cheese
dip what is the most expensive item
she can buy with the money she has
left?
$5.00 - $1.30 = $3.70

3) The table below shows the prices of
several items at a clothing store.

Item Price
hoodie $1.35

hat $3.10
scarf $1.30
jacket $1.25
t-shirt $3.00

Nancy had $5.00 when she went to
the store. If she bought 1 scarf what
is the most expensive item she can
buy with the money she has left?
$5.00 - $1.30 = $3.70

4) The table below shows the prices of
several items at a bakery.

Item Price
brownie $1.15
cupcake $2.25
cookie $2.55

pie $2.85
muffin $2.40

Billy had $5.00 when he went to the
bakery. If he bought 1 muffin what is
the most expensive item he can buy
with the money he has left?
$5.00 - $2.40 = $2.60

5) The table below shows the prices of
several items at the school store.

Item Price
pen $3.05

eraser $1.00
marker $3.55
pencil $3.25

notepad $1.45
Ned had $5.00 when he went to the
store. If he bought 1 pen what is the
most expensive item he can buy with
the money he has left?
$5.00 - $3.05 = $1.95

6) The table below shows the prices of
several items at the store.

Item Price
spoon $3.65
plate $3.15
bowl $1.05
cup $2.60
fork $3.35

Frank had $5.00 when he went to the
store. If he bought 1 cup what is the
most expensive item he can buy with
the money he has left?
$5.00 - $2.60 = $2.40

Answers

1. chocolate bar

2. bag of chips

3. hat

4. cookie

5. notepad

6. bowl
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